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ø±ìùdºãT Ÿ̋ f…dtº ù||üsỲ 5

1) e÷qe⁄ì˝À yêj·TTHêfi≤ìøÏ Ä<Ûësêì#˚Ã eTè<äT˝≤dæú ñ+>∑sê\

Äø±s¡+?

1) J 2) D

3) O 4) C

2) Á|ü‹`s¡ø£åø±\T ‘A’,’B’ \T ¬s+&É÷ Ò̋ì s¡ø£Ôes¡Z+?

1) B 2) AB

3) O 4) A

3) Væ≤yÓ÷>√¢_Hé ñ+&ÉT ø£D≤\T?

1) bÕ¢kÕà 2) s¡ø£Ô|ü\øÏø£\T

3) m]Á‘√ôd’≥T\T 4) \÷´ø√ôd’≥T\T

4) ì»+ ø±ì~?

1) {Àe÷{À,C≤eT, u§bÕŒsTT, ns¡{Ï̋ À |òü\+`eTè<äT|òü\+

2) dæÁ≥dt yÓTTø£ÿ\˝À |òü\+ ` ôV≤düŒØ&çj·T+

3) ô|’Hê|æ̋ Ÿ, |üqdü̋ À |òü\+ ` k˛s√dædt

4) ø=ã“], e÷$T&ç̋ À |òü\+ ` ø£e#· ;»ø£+

5) á ÁøÏ+~ yêì˝À esêí+<Ûä‘·«eTTqT >∑T]Ô+#̊ |üØø£å?

1) n …̋dæ‡j·÷ 2) ÇwæVü≤s¡

3) &Ü{Ÿ u≤¢{Ï+>¥ 4) @Bø±<äT

6) eT÷&ÉT >∑<äT\ Vü≤è<äj·T+ ø£\ Je⁄\T?

1) ‘=+&É 2) ø£|üŒ

3) ø±øÏ 4) ≈£îø£ÿ

7) BP ì ø=*#̊ |ü]ø£s¡+?

1) >±\«H√MT≥sY 2) dæŒ>√àe÷H√MT≥sY

3) u≤s√MT≥sY 4) <ÛäsêàMT≥sY

8) e÷qe⁄ì˝À kÕe÷q´ s¡ø£Ô|”&Éq+?

1) 80/120 2) 100/120

3) 120/100 4) 120/80

9) s¡ø£ÔHêfi≤˝À¢ s¡ø£Ô+ >∑&É¶ø£≥º≈£î+&Ü #·÷ùd~?

1) Væ≤yÓ÷>√¢_Hé 2) Væ≤bÕ]Hé

3) <∏Ó’sêøÏ‡Hé 4) ô||æ‡Hé

10) msTT&é‡ yê´~Û̋ À q•+#̊ s¡ø£Ôø£D≤\T?

1) yÓ÷H√ôd’{Ÿ‡ 2) q÷´Á{À|òæ̋ Ÿ‡

3) *+bǫ̀ ôd’{Ÿ‡ 4) uÒk˛|òæ̋ Ÿ‡

11) Á|üø£è‹˝À \_Û+#·ì »&É yêj·TTe⁄?

1) V”≤*j·T+ 2) ®̂HêHé

3) ÁøÏbÕºHé 4) πs&ÜHé

12) |ü∫Ãø±j·T\qT |ü+&ç+#·T≥≈£î ñ|üjÓ÷–+#̊ yêj·TTe⁄?

1) mdæ{Ï©Hé 2) Ç~Û©Hé

3) á<∏̊Hé 4) ãT´fÒHé

13) ø£+|üP´≥sY ∫|t‡, ø±+‹ $<äT´‘Y |òüT{≤\ ‘·j·÷Ø˝À ñ|üjÓ÷–+#̊

eT÷\ø£+?

1) dæ*ø±Hé 2) dæ*ø±

3) ≥+>¥düºHé 4) Áø√$Tj·T+

14) ô|ì‡ Ÿ̋ …̋&é̋ À ñ+&̊ …̋&é jÓTTø£ÿ XÊ‘·+?

1) 75% 2) 90%

3) 25% 4) düTqï

15) n+≥T≈£îb˛ì e+≥bÕÁ‘·\qT áÁøÏ+~ |ü<ës¡ú+‘√ |üP‘· |üPkÕÔs¡T?

1) u…ø̆ …̋’{Ÿ 2) HÓ’̋ ≤Hé

3) f…bòÕ¢Hé 4) πsj·÷Hé

16) dü]Vü≤<äT› ÁbÕ+‘ê\˝À s¡yêD≤ nj̊T´ ªm˝À¢πøø̆µ nH̊~

1) eTT&ç ôV≤sêsTTHé 2) eTT&ç ø=¬ø’Hé

3) j·TTπsìj·T+ Ä¬ø’‡&é 4) X̄ó~∆#̊j·Tì ã+>±s¡+

17) ÁøÏ+~ yêì˝À @ Ç+<Ûäq+ |üsê´eD≤ìøÏ ‘·≈£îÿe Vü‰ì ø£*–düTÔ+~?

1) &çõ Ÿ̋ 2) u§>∑TZ

3)ôV’≤Á&√»Hé 4) øÏs√dæHé

18) ªs¡kÕj·Tq sê»+µ nì <̊ìq+{≤s¡T?

1) HÓ’Á≥dt ÄeT¢+ 2) mdæ{Ïø̆ ÄeT¢+

3) dü\÷Œ¤́ ]ø̆ ÄeT¢+ 4) ôV’≤Á&√ø√¢]ø̆ ÄeT¢+

19) Ç‘·Ô&ç,»s¡àHé dæ\«sY, ø£+#·T $TÁX̄eT ˝ÀVü‰\˝À >∑\ ñeTà&ç ˝ÀVü≤+?

1) Mg 2) Zn

3) Cu 4) Al

20) á ÁøÏ+~ yêì˝À yÓT^ïwæj·T+ $TÁX̄eT ˝ÀVü≤+?

1) u…̋ ŸyÓT≥ Ÿ̋ 2) m\Áø±ºHé

3) »s¡àHé dæ\«sY 4) e÷>∑ïf…Æ{Ÿ

21) á ÁøÏ+~ yêì˝À @ dæ<ë›+‘·+ Á|üø±s¡+ bǫ̀ {≤Hé X¯øÏÔ ø±«+≥yéT

s¡÷|ü+˝À ñ+≥T+~?

1) ø±+‹`ø£D dæ<ë›+‘·+ 2) ø±+‹ dæ<ë›+‘·+

3) ‘·s¡+>∑ dæ<ë›+‘·+ 4) ô|’eìïj·T÷

22) düeT‘·«s¡D+˝À Á|üj·÷DÏdü÷Ôj·TTqï yêVü≤q+˝À ≈£Ls¡TÃqï eTìwæ ̌ ø£

sêsTTì ì{≤s¡T>± ô|’øÏ$dæ]‘̊ ÄsêsTT mø£ÿ&É |ü&ÉT‘·T+~?

1) n‘·ì HÓ‹Ô MT<ä 2) Ä yêVü≤q+ eTT+<äT

3) Ä yêVü≤q+ yÓqTø£

4) mø£ÿ&É |ü&ÉT‘·T+<äH̊~ ẙ>∑+ô|’ Ä<Ûës¡|ü&ç j·TT+≥T+~

23) ø£èÁ‹eT ñ|üÁ>∑Vü‰\˝Àì \|òüT˝À\ø£+ jÓTTø£ÿ Äes¡Ôq ø±\+?

1) nq+‘·+ 2) X̄Sq´+

3) 10 ôd¬øqT\T 4) dæús¡+>± e⁄+≥T+~

24) &Ü≈£î´yÓT+{Ÿ jÓTTø£ÿ HêD´‘·qT >∑T]Ô+#̊+<äT≈£î ‘√&ÉŒ&̊ øÏs¡D≤\T?

1) mø̆‡`øÏs¡D≤\T 2) |üsês¡TD øÏs¡D≤\T

3) n‹˙\˝ÀVæ≤‘· øÏs¡D≤\T

4) >±e÷ øÏs¡D≤\T



25) ˇø£ |ü⁄{≤ø±s¡ ø£≥ø£+qT ‘·≈£îÿe eÁø°uÛÑeq+ >∑\ Á<äe+‘√ eTT+∫q

n~........

1) |ü⁄{≤ø±s¡ ø£≥ø£+ e …̋ Á|üe]ÔdüTÔ+~

2) ≈£î+uÛ≤ø±s¡ ø£≥ø£+ e …̋ Á|üe]ÔdüTÔ+~

3) kÕe÷q´ >±E |ü\ø£ e …̋ Á|üe]ÔdüTÔ+~

4) #Ó|üŒ Ò̋eTT

26) <äTeTTà, <ä÷[, bı>∑eT+#·T >∑T+&Ü bò˛{À\qT rj·T&ÜìøÏ á

øÏs¡D≤\qT ñ|üjÓ÷–kÕÔs¡T.

1) n‹˙\˝ÀVæ≤‘· 2) Ò̋»sY

3) |üsês¡TD 4) mø̆‡`øÏs¡D≤\T

27) ø£+{Ï̋ À ñ+&̊ ø£≥ø£+

1) ≈£î+u≤ø±s¡ ø£≥ø£+ 2) |ü⁄{≤ø±s¡ ø£≥ø£+

3) ~«|ü⁄{≤ø±s¡ ø£≥ø£+ 4) ~«≈£î+u≤ø±s¡ ø£≥ø£+

28) #êÃ¤j·T\T, Á>∑Vü‰D≤\T @s¡Œ&ÉT≥ ø±+‹ á <ÛäsêàìøÏ #Ó+~q~.

1) eÁø°uÛÑeq+ 2) dü+|üPsêí+‘·s¡ |üsêes¡Ôq+

3) ø±+‹ $es¡Ôq+

4) ãTTEe÷s¡Z+˝À Á|üj·÷DÏ+#·T≥

29) <Ûä«qT\ jÓTTø£ÿ bÂq:|ü⁄q´+ ô|]–‘̊ kÕúsTT‘·«+?

1) ô|s¡T>∑T‘·T+~ 2) ‘·>∑TZ‘·T+~

3) dü+ã+<Ûä+ Ò̋<äT 4) ô|s¡>∑e#·TÃ

30) #·T≥ºã&É¶ ÁdæŒ+>¥̋ Àq÷, >±*˝Àq÷ @s¡Œ&̊ ‘·s¡+>±\T?

1) nqT<Ó’s¡È́  ‘·s¡+>±\T 2) ‹s¡́ ø̆ ‘·s¡+>±\T

3) kÕúes¡ ‘·s¡+>±\T 4) @Bø±<äT

31) ª>√Á‘·µ nqT |ü<ä+ yÓTT<ä{ÏkÕ] yê&Éã&çq ẙ<ä+ ?

1) kÕeTẙ<ä+ 2) s¡Tπ>«<ä+

3) n<Ûäs¡«Dẙ<ä+ 4) j·TEπs«<ä+

32) ãT~∆»+ jÓTTø£ÿ »qàdüú\eTì ù|s¡T>±+∫q ÁbÕ+‘êìï >∑T]Ô+#·TeTT?

1) kÕs¡Hê<∏é 2) ≈£îw”q>∑sY

3) \T+_ì 4) sê»´Á>∑Vü≤

33) C…’qT\ |ü⁄D´Á>∑+<∏ë\T |æ\T#·Tq~

1) Ä>∑e÷\÷ 2) n+>±dt

3) |üsê«\T 4) ñbÕ+>±\T

34) eTÚs¡T´\ yÓ+&ç HêDÒ\T nì |æ\T#·Tq~

1) ìwüÿ 2) ø±øÏì

3) |üD 4) X̄‘·e÷q

35) ÁøÏ+~ yê]˝À me]ì ªø£$sêEµ nì |æ*∫Hês¡T ?

1) ≈£îe÷s¡>∑T|üỒ 1 2) #·+Á<ä>∑T|üỒ 1

3) #·+Á<ä>∑T|üÔ $Áø£e÷~‘·́ 4) düeTTÁ<ä>∑T|üỒ 1

36) |üèB∏«sêCŸ #ÍVü‰Hé eTVü≤eTà<é |òüTÀ]˙ z&ç+∫q j·TT<ä›+?

1) ‘·¬s’Hé 2) bÕì|ü≥Tº

3) sƒêH̊X̄«sY 4) #·+<ë|üPsY

37) ÄÁ>± q>∑s¡ kÕú|ü≈£î&ÉT mes¡T ?

1) |òæs√CŸ ‘·T>∑¢ø̆ 2) eTVü≤à<é _Hé ‘·T>∑¢ø̆

3) n˝≤¢e⁄B›Hé œ©® 4) dæøÏ+<äsY̋ À&ç

38) ÁøÏ+~ yê]˝Àì @ uÛ Ñø Ï Ô ñ<ä´eT Hêj·T≈£î&ÉT ÇkÕ¢+ e\q

Á|üuÛ≤$‘·T&Éj·÷´&ÉT ?

1) sêe÷qT» 2) qj·THês¡T¢

3) #Ó’‘·q´ 4) sêeTHê<∏äHé

39) ∫‘·÷Ôs¡T˝Àì ª$»j·T düÔ+uÛÑµqT ì]à+∫qyês¡T?

1) sêD≤ dü+Á>±eTdæ+>¥ 2) sêD≤ Vü≤˙sY

3) sêD≤ s¡‘·Hédæ+>¥ 4) sêD≤ ≈£î+uÛÑ

40) ‘êHéùdHé jÓTTø£ÿ ndü\T ù|s¡T ?

1) eTø£s¡+<ä bÕ+&̊ 2) ãCŸ ãVü≤<ä÷sY

3) ˝≤ Ÿ̋ ≈£î\«+‘Y 4) sêeT‘êqT bÕ+&̊

41) |üHêe÷ ø±\Te ẙ{Ïì ø£\T|ü⁄‘·T+~?

1) n{≤¢+{Ïø̆ düeTTÁ<ä+` |üdæ|òæø̆ düeTTÁ<ä+

2) n{≤¢+{Ïø̆ düeTTÁ<ä+ ` mÁs¡ düeTTÁ<ä+

3) n{≤¢+{Ïø̆ düeTTÁ<ä+ ` eT<Ûä́ <Ûäsê düeTTÁ<ä+

4) #Ó’Hê düeTTÁ<ä+ ` ø£πs_j·THé düeTTÁ<ä+

42) Á|ü|ü+#·+˝À n‘·́ +‘· ô|<ä› HÍø±j·÷q ø±\Te?

1) |üHêe÷ ø±\Te 2) ø°̋ Ÿ ø±\Te

3) dü÷j·TCŸ ø±\Te 4) dü÷ ø±\Te

43) bÕ]dt @ q~ ˇ&ÉT¶q ñ+~?

1) ˝≤bÕ¢{≤ 2) Ád”Œ

3) ôdsTTHé 4) H̊yê

44) yê{Ïø£Hé dæ{° ‘·sê«‘· »HêuÛ≤˝À Á|ü|ü+#·+˝À n‹∫qï <̊X̄+?

1) yÓTTHêø√ 2) HÍs¡T

3) ‘·Te\T 4) e÷˝≤º

45) ÇÁC≤jÓT Ÿ̋≈£î kÕe÷q´ bıs¡T>∑T <̊XÊ\T?

1) …̋ãHêHé,  dæ]j·÷, CÀsê¶Hé eT]j·TT áõ|tº

2) …̋ãHêHé, dæ]j·÷, ≥Øÿ eT]j·TT CÀsê¶Hé

3) ôd’Á|üdt, ≥Øÿ, CÀsê¶Hé eT]j·TT áõ|tº

4) ≥Øÿ, dæ]j·÷, Çsêø̆ eT]j·TT jÓTyÓTHé

46) á ÁøÏ+~ yêì˝À uÛÑ÷|ü]ẙwæº‘· <̊X̄+ @~?

1) u§©$j·÷ 2) ô|s¡÷

3) dü÷]HêyéT 4) ñs¡Tπ>«

47) á ÁøÏ+~ <̊XÊ˝À¢ <̊ì‘√ ˝≤‹«j·÷ bıs¡T>∑T <̊X̄+‘√ dü]Vü≤<äT›qT

|ü+#·Tø√<äT?

1) s¡cÕ´ 2) ák º̨ìj·÷

3) *<ÛäTẙìj·÷ 4) b˛\+&é

48) ª>√ …̋¶Hé π>{Ÿµ |ü≥ºD+?

1) XÊHéÁbòÕì‡k˛ÿ 2) q÷´j·÷sYÿ

3) n{≤¢+{≤ 4) yêwæ+>∑ºHé &ç.dæ.

49) ªe÷]ï+>¥ düHéµ nì |æ\Teã&̊ <̊X̄+?

1) ¬øq&Ü 2) ø=]j·÷

3) Hêπs« 4) <∏ësTT˝≤+&é

50) á ÁøÏ+<ä ù|s=ÿqï yê{Ï̋ À @ <̊XÊ\T e÷˝À›yê≈£î dü]Vü≤<äT›>± ñ

HêïsTT?

m) ñÁ¬øsTTHé _) s¡TẙTìj·÷

dæ) u…̋ ≤s¡dt

ÁøÏ+<ä ù|s=ÿqï ø√&éqT ñ|üjÓ÷–+∫ dü¬s’q »yêãTìeTTà:

1) m, _ e÷Á‘·ẙT 2) _, dæ e÷Á‘·ẙT

3) m, dæ e÷Á‘·ẙT 4) m, _ eT]j·TT dæ

51) |üs¡«‘ê\ n<Ûä́ j·Tq XÊÁdüÔ+?

1) zs√\J 2) ÄdæºyÓ÷\J

3) Ä]ï<∏√\J 4) n+ø±\J

52) uÛÑ÷$T ñ|ü]‘·\+ qT+∫ ô|’øÏ ñqï yê‘êes¡D+˝Àì $_Ûqï bıs¡\

dü¬s’q es¡Tdü Áø£eT+?

1) Á{Àb˛dæŒj·TsY, ÁkÕº{ÀdæŒj·TsY, ◊H√dæŒj·TsY, yÓTk˛dæ‡j·TsY

2) ÁkÕº{ÀdæŒj·TsY, Á{Àb˛dæŒj·TsY, ◊H√dæŒj·TsY, yÓ÷k˛dæ‡j·TsY

3) Á{Àb˛dæŒj·TsY, ÁkÕº{ÀdæŒj·TsY, yÓTk˛dæ‡j·TsY, ◊H√dæŒj·TsY

4) ÁkÕº{ÀdæŒj·TsY, Á{Àb˛dæŒj·TsY, yÓTk˛dæ‡j·TsY, ◊H√dæŒj·TsY



53) kÂs¡ ≈£î+≥T+ã+˝À n‹ô|<ä› Á>∑Vü≤+?

1) >∑Ts¡T&ÉT 2) ãT<ÛäT&ÉT

3) X̄óÁ≈£î&ÉT 4) n+>±s¡≈£î&ÉT

54) @ Á>∑Vü≤+ MT<ä |ü>∑\T n‘·́ +‘· ø±\+ m≈£îÿe?

1) n+>±s¡≈£î&ÉT 2) ãT<ÛäT&ÉT

3) >∑Ts¡T&ÉT 4) X̄óÁ≈£î&ÉT

55) kÂs ¡ eT+& É\ e´ed ü ú  mø £ ÿ& É qT+& ç ÁbÕs ¡+u Û Ñy Ó T Æ+< äì

uÛ≤$+#·ã&ÉT‘·T+~?

1) #·+Á<äT&ÉT 2) dü÷s¡T´&ÉT

3) >∑Ts¡T&ÉT 4) X̄óÁ≈£î&ÉT

56) <äøÏåD ÄÁùdº*j·÷ πs&çj·T+ |üs¡«‘·+ qT+∫ e#̊Ã~ (‘·j·÷s¡T #̊ùd~)?

1) ÇqT|ü <Ûë‘·Te⁄ 2) u§>∑TZ

3) j·TTπsìj·T+ 4) sê‹Hês¡ (Ädtu…kÕºdt)

57) XÊHéÁbòÕì‡k˛ÿ q>∑sêìï @eTì |æ\TkÕÔs¡T?

1) dæ{° Ä|òt >√ …̋¶Hé π>{Ÿ

2) dæ{° Ä|òt m≥s¡ï Ÿ̋ ÁdæŒ+>¥‡

3) dæ{° Ä|òt bÕ´ …̋ôddt 4) dæ{° Ä|òt ôdyÓHé Væ≤ Ÿ̋‡

58) Ç~∏jÓ÷|æj·÷ jÓTTø£ÿ bÕ‘· ù|s¡T?

1) ø£+|üP∫j·÷ 2) n;d”ìj·÷

3) |ü]¸j·÷ 4) u…#·T\Hê˝≤+&é

59) uÛ≤+u§] ø=+&É\T ñqï <̊X̄+?

1) bÕøÏkÕúHé 2) …̋ãHêHé

3) |ü]¸j·÷ 4) ã+>±¢<̊XŸ

60) Á|ü|ü+#· »HêuÛ≤˝À n‘·́ ~Ûø£ uÛ≤>∑+?

1) ÁøÏdæºj·TqT¢ 2) eTTdæ¢+\T

3) Væ≤+<äTe⁄\T 4) dæ≈£îÿ\T

61) eTq<̊X̄+˝À yÓTT≥ºyÓTT<ä{Ï Çq÷‡¬sHé‡ ø£+ô|˙ @ q>∑s¡+˝À

ÁbÕs¡+_Û+#·ã&ç+~?

1) #ÓHÓ’ï 2) ø£\ø£‘êÔ

3) q÷´&Ûç©¢ 4) eTT+u≤sTT

62) …̋’|òt Çq÷‡¬sHé‡ Ä|òt Ç+&çj·÷ (LIC) kÕú|üq @ dü+e‘·‡s¡+˝À

»]–+~?

1) 1955 2) 1956 3) 1957 4) 1959

63) »qs¡̋ Ÿ Çq÷‡¬sHé‡ ø±s=ŒπswüHé (GIC)  @ dü+e‘·‡s¡+˝À

kÕú|æ+#·ã&ç+~?

1) 1970 2) 1972 3) 1973 4) 1975

64) eTq<̊X̄+˝À Ä]úø£ dü+e‘·‡s¡+ @ ‘̊Bq yÓTT<ä\e⁄‘·T+~?

1) 1 »qe] 2) 1 @Á|æ̋ Ÿ

3) 31 e÷]Ã 4) 31 »qe]

65) bÕ]ÁXÊ$Tø£ ãTTD+ eT+ps¡T˝À Á|ü<∏äeT kÕúq+˝À ñqï

u≤´+ø̆ @~?

1) IDBI 2) ICICI 3) IFRB 4) BIFR

66) @ dü+e‘·‡s¡+˝À q÷´ u≤´+ø̆ Ä|òt Ç+&çj·÷, |ü+C≤uŸ H̊wüq Ÿ̋

u≤´+ø̆‘√ $©q+ #̊j·Tã&ç+~?

1) 1993 2) 1992 3) 1996 4) 1995

67) Vü≤]‘· $|ü¢e+ <ë«sê ôV≤ø±ºsYøÏ ~>∑Tã&ç >√<ÛäTeT $wüj·T+˝À

m+‘·≈£î #̊s¡T≈£î+~?

1) 1,500 kg 2) 2,000 kg

3) 2,200 kg 4) 3,000 kg

68) yÓTT<ä{Ï |ü+#·es¡̧ Á|üD≤[ø£ ÁbÕs¡+uÛÑ+˝À yÓTT‘·Ô+ ÄVü‰s¡

<Ûë´Hê\ ñ‘·Œ‹Ô m+‘·?

1) 70 $T*j·THé ≥qTï\T 2) 50.82 $T*j·THé ≥qTï\T

3) 80 $T*j·THé ≥qTï\T 4) 120 $T*j·THé ≥qTï\T

69) yÓTT<ä{Ï |ü+#·es¡̧ Á|üD≤[ø£qT @ qeT÷Hê Ä<Ûës¡+>±

s¡÷bı+~+#ês¡T?

1) \÷sTTdt - |ò” qeT÷Hê 2) eTVü≤ Ÿ̋ H√_dt qeT÷Hê

3) Vü‰s¡&é - &√eTsY qeT÷Hê 4) ø°ì‡j·THé qeT÷Hê

70) (Advolemrom)  n&éyê˝≤s¡+ &É÷´{° @ ÁbÕ‹|ü~ø£>±

$~ÛkÕÔs¡T?

1) edüTÔe⁄ <Ûäs¡ 2) &çe÷+&é

3) HêD´‘· 4) düô|’¢

71) ÁøÏ+<ä Çe«ã&çq ÁbÕ+‘ê\˝À uÛ≤s¡‘·<̊X̄+˝Àì ∫‘·Ô&ç Á|ü<̊X̄+

nì @ Á|ü<̊XÊìï |æ\TkÕÔs¡T?

1) C…’dü©àsY 2) Ò̋Vt≤

3) ñ<äø£eT+&É\+ (}{°) 4) e÷dæHésê+

72) uÛ≤s¡‘·<̊X̄+˝À ñ|üqT n‘·́ ~Ûø£+>± ñ‘·Œ‹Ô #̊j·TT sêh+

1) ‘·$TfīHê&ÉT 2) πøs¡fī 3) eTVü‰sêh 4) >∑T»sê‘Y

73) Ä+Á<ÛäÁ|ü<̊XŸ sêh+˝Àì nq+‘·|ü⁄s¡+ õ˝≤¢ @ KìC≤ìøÏ

Á|üdæ~∆?

1) õ+ø̆ 2) sê– 3) yÓTÆø± 4) ã+>±s¡+

74) u§ø±s√ u§>∑TZ >∑qT\T ÁøÏ+~ sêh+˝À ñHêïsTT?

1) ˇ&çcÕ 2) eT<Ûä́ Á|ü<̊XŸ

3) C≤s¡â+&é 4) |ü•ÃeTu…+>± Ÿ̋

75) uÛ≤s¡‘Y ‘·q yÓTT<ä{Ï nDT|üØø£å\qT ìs¡«Væ≤+∫q Á|ü<̊X̄+?

1) #·+bÕs¡Hé 2) #·+<ëq>∑sY

3) »eVü≤sYq>∑sY 4) b˛ÁU≤Hé

76) &Ódæu…̋ Ÿ nqTq~ øÏ+~ <̊ìøÏ Á|üe÷D+

1) ø±+‹ẙ>∑+ 2) ñwüírÁe‘· 3) X̄ã›rÁe‘· 4) @Bø±<äT

47) ÁøÏ+~ @ πs≈£î (ø±–‘·+) ≈£î     X-øÏs¡D≤\qT XÀwæ+#·T≈£îH̊

kÕeTs¡ú́ + m≈£îÿe>± ñ+≥T+~?

1) yÓ+&ç 2) d”dü+ 3) ø±|üsY 4) ÇqTeTT

78) ø±+‹ẙ>∑+ øÏ+~ m+<äT˝À m≈£îÿe>± ñ+≥T+~?

1) ˙s¡T 2) >±E 3) eÁ»+ 4) X̄Sq´+

79) m\Áø±ºHé yÓTÆÁø√k˛ÿ|ü⁄qT ø£qT>=qïyês¡T?

1) Hê Ÿ̋ eT]j·TT s¡kÕÿ 2) sêãsYº ø√#Y

3) ©yÓHé VüQø̆ 4) CÒyéT‡yê≥‡Hé

80) øÏ+~ yê{Ï̋ À <̊ìøÏ Bs¡È ‘·s¡+>∑<Ó’s¡È́ + ñ+≥T+~?

1) ˙* ø±+‹ 2) >±e÷ øÏs¡D≤\T

3) X- øÏs¡D≤\T 4) ms¡T|ü⁄ ø±+‹



81) X̄ó+>∑T\qT z&ç+∫ ñ»®sTTì |ü≥ºD+ >∑Ts¡TÔ‘√ HêDÒ\T

eTTÁ~+∫q XÊ‘·yêVü≤qsêE mes¡T ?

1) yÓTT<ä{Ï XÊ‘·ø£]í 2) ¬s+&Ée XÊ‘·ø£]í

3) >ö‘·MT|ü⁄Á‘· XÊ‘·ø£]í 4) yÓTT<ä{Ï |ü⁄˝Àe÷$

82) á ÁøÏ+~ yê]˝À HêHê|òüT&é XÊdüq+ ẙsTT+∫q~ mes¡T ?

1) >ö‘·MT|ü⁄Á‘· u≤\l 2) Hê>±ìø£

3) ẙ<äl 4) ô|’yês¡+<äs¡÷

83) HêHê|òüT&é XÊdüq+ @ sêE ø±\+˝À Hê>±ìø£ ẙsTT+∫+~ ?

1) |üPs√í‘·T‡+>∑T&ÉT 2) ¬s+&Ée XÊ‘·ø£]í

3) yÓTT<ä{Ï XÊ‘·ø£]í 4) ≈£î+‘·\ XÊ‘·ø£]í

84) XÊ‘·yêVü≤q sêC≤´ìï n‘·́ ~Ûø£ ø±\+ |ü]bÕ*+∫q sêE ?

1) yÓTT<ä{Ï XÊ‘·ø£]í 2) >ö‘·MT|ü⁄Á‘· XÊ‘·ø£]í

3) ¬s+&Ée XÊ‘·ø£]í 4) ≈£î+‘·\ XÊ‘·ø£]í

85) kÕ+N dü÷úbÕìøÏ <äøÏåD ‘√s¡D≤ìï ì]à+∫q XÊ‘·yêVü≤q

sêE?

1) |üPs√í‘·T‡+>∑T&ÉT 2) ¬s+&Ée XÊ‘·ø£]í

3) yÓTT<ä{Ï XÊ‘·ø£]í 4) ≈£î+‘·\ XÊ‘·ø£]í

86) dü+kÕú>∑‘·+>± ñqï 1.70 \ø£å\eT+~ ñ<√´>∑T˝À¢ »yêãT<ëØ

‘·Hêìï ô|+bı+~+#̊+<äT≈£î <̊X̄+˝Àì @ u≤´+≈£î ô|sêŒ¤¬sàHé‡

ẙTH̊õyÓT+{Ÿ dædüº+qT @sêŒ≥T#̊dæ+~?

1) ùdº{Ÿu≤´+≈£î Ä|òt Ç+&çj·÷ 2) |ü+C≤uŸ H̊wüq Ÿ̋ u≤´+≈£î

3) ôV≤#Y&çm|òtdæ 4) j·Tdt u≤´+≈£î

87) ˝Àø̆düuÛÑ̋ À 2016 ẙT 5q ÄyÓ÷<ä+ bı+~q ~ ÇHê‡ …̋«˙‡

n+&é u≤´+ø̆s¡|”º‡ ø√&é _\T¢ 2016≈£î dü+ã+~Û+∫q C≤sTT+{Ÿ

bÕs¡¢yÓT+≥Ø ø£$T{°øÏ mes¡T n<Ûä́ ø£å‘· eVæ≤düTÔHêïs¡T?

1) nqTsê>¥dæ+>¥ sƒê≈£îsY 2) uÛÑ÷ù|+<äsY j·÷<äyé

3) &Ü. {Ï¬ø $X̄«Hê<∏äHé 4) Äq+<äsêe⁄ n<äT‡ Ÿ̋

88) 2016 @Á|æ̋ Ÿ̋ À »s¡àHé Á|üuÛÑT‘·« uÛ≤>∑kÕ«eT´+‘√ Hêu≤sY¶ #̊|ü{Ïº

q Á|ü‘̊´ø£ ø±s¡́ Áø£eT+ @$T{Ï?

1) ôV’≤Á_&é yÓ¬s’{° á*¶+>¥

2) |ü⁄&é ÁbÕôddæ+>¥ n+&é dü|ü¢jYT

3) kÕsTT Ÿ̋ ms√dæHé n+&é |ü⁄&é Ábı&Éø£åHé

4) kÕsTT Ÿ̋ Ábı≥ø£åHé n+&é ØVü‰_ Ò̋≥wüHé |òüsY |ü⁄&é ôd≈£L´]{°

89) 2016 @Á|æ̋ Ÿ 28q @ <̊XÊìøÏ #Ó+~q $<̊XÊ+>∑eT+Á‹

\+&Ó>¥ |üP ¬́syédüTπsdt q÷´&Ûç©¢ dü+<ä]Ù+∫q|ü⁄&ÉT uÛ≤s¡‘Y …̋’Hé

Ä|òt Á¬ø&ç{Ÿ(m Ÿ̋zdæ)ì 1 _*j·THé &Ü\s¡T¢≈£î ô|+∫+~?

1) eTeTHêàsY 2) ◊dt̋ ≤´+&é

3) ãVü≤e÷dt 4) eT+>√*j·÷

90) kÕºø̆Vü≤ √\¶s¡¢ düeTdǘ \ |ü]cÕÿsêìøÏ 2016 @Á|æ̋ Ÿ 21q @

πø+Á<ä eT+Á‹‘·«XÊK {Ï«≥ºsYùdeqT Ä$wüÿ]+∫+~.

1) yêDÏ»´XÊK

2) Ä]úø£XÊK

3) uÛ≤Ø |ü]ÁX̄eT\XÊK

4) dæÿ Ÿ̋ n+&é m+≥sYÁô|’CŸ &Óe\|tyÓT+{Ÿ

91) á ÁøÏ+~ yêìì »‘·|üs¡#·+&ç

     Ä]úø£ dü+|òüT+    n<Ûä́ ≈£åî&ÉT

m) yÓTT<ä{Ï 1) m.¬ø.#·+<ë

_) ¬s+&Ée 2) ¬ø.dü+‘êq+

dæ) eT÷&Ée 3) ¬ø.dæ.ìjÓ÷–

&ç) |ü<äe 4) ¬ø.dæ.|ü+‘Y

1) m`1,_`4,dæ̀ 2,&ç̀ 3 2) m`2,_`4,dæ̀ 3,&ç̀ 1

3) m`3,_`2,dæ̀ 1,&ç̀ 4 4) m`4,_`2,dæ̀ 1,&ç̀ 3

92) Ä]úø£ dü+|òüT+ $~Û ÁøÏ+~yêì˝À @~ ø±<äT ?

1) πø+Á<ä sêÅwüº Ä<ëj·T eqs¡T\ |ü+|æD°øÏ dü+ã+~Û+∫ sêÅwüº|ü‹øÏ

dæbòÕs¡düT\T #̊j·TT≥

2) sêÅwüº Á|üuÛÑT‘ê«\øÏ uÛ≤s¡‘· dü+|òüT{Ï‘· ì~Û qT+∫ πø{≤sTT+#ê*‡q

düVü‰j·Tø£ Á>±+≥¢ $wüj·T+˝À nqTdü]+#ê*‡q düVü‰j·Tø£ Á>±+≥¢

$wüj·T+˝À nqTdü]+#ê*‡q e÷s¡Z<äs¡Ùø£ dü÷Á‘ê\qT ‘Ó\TŒ≥

3) <̊X̄ eqs¡T\ì düeTÁ>∑+>± n<Ûä́ j·Tq+ #̊j·T&É+.

4) πø+Á<ä sêÅwüº Á|üuÛÑT‘ê«\≈£î dü+ã+~Û+∫q Ä]úø£ ˇ|üŒ+<ë\

ø=qkÕ–+|ü⁄ Ò̋<ë dües¡D\øÏ dü+ã+~Û+∫q dæbòÕs¡düT\T #̊j·TT≥.

93) >∑es¡ïs¡TqT mìïø£ <ë«sê ø±≈£î+&Ü ìj·T$T+#·{≤ìøÏ >∑\ ø±s¡D≤\T

~>∑Te yêì˝À @$ ?

a. mìïø£ ø±ã&çq >∑es¡ïs¡T ì»yÓTÆq n~Ûø±s¡+ bı+<ë\ì uÛ≤$+#·≥+

e\q <̊X̄ ◊ø£́ ‘·øÏ, düeTÁ>∑‘·øÏ uÛÑ+>∑+ yê{Ï\¢e#·TÃ.

b. πø+Á<ä sêÅwüº Á|üuÛÑT‘ê«\ eT<Ûä́  yês¡~Û>± |üì#̊j·T≥øÏ >∑es¡ïs¡Tì

ìj·T$T+#·≥+ eT+∫+~.

c. ìj·T$T+∫q >∑es¡ïs¡T <ë«sê sêÅwüº Á|üuÛÑT‘·«+ô|’ πø+Á<ä+ n<äT|ü⁄

ø£*– ñ+≥T+~.

d. mìïø£\ Á|üÁøÏj·T≈£î $|üØ‘·+>± <Ûäq+ Ks¡Ãe⁄‘·T+~.

1) a, b, c, d 2) a, b, d

3) b, c, d 4) a, b, c

94) yÓTT≥ºyÓTT<ä{ÏkÕ]>± 356e ìã+<Ûäq ñ|üjÓ÷–+∫ @ sêÅwüº+˝À

sêÅwüº|ü‹ bÕ\q $~Û+#ês¡T ?

1) |ü•ÃeT u…+>± Ÿ̋ 2) πøs¡fī

3) ‘·$TfīHê&ÉT 4) Ä+Á<ÛäÁ|ü<̊XŸ

95) >∑es¡ïs¡T |ü<ä$ì >∑T]+∫q á ÁøÏ+~ $esê\˝À @~ ì»+ ø±<äT ?

1) ‘·q n~Ûø±sê*ï ìs¡«]Ô+#·≥+˝À @ Hê´j·TkÕúHêìø° >∑es¡ïs¡T

»yêãT<ëØ ø±<äT.

2) >∑es¡ïs¡Tô|’ dæ$ Ÿ̋ ø√s¡Tº̋ À <ëyê ẙj·T´{≤ìøÏ @≥Te+{Ï H√{°düT

nedüs¡+ Ò̋<äT.

3) |ü<ä$˝À ñqï+‘·es¡≈£L n‘·ì MT<ä m≥Te+{Ï ÁøÏ$Tq Ÿ̋ πødüT\T

ô|≥ºsê<äT.

4) >∑es¡ïs¡Tì ‘·q $<ÛäT\T ìs¡«]Ô+#·eTì Hê´j·TkÕúHê\T ø√s¡̋ Òe⁄.

96) Hê´j·T ÁøÏj·÷o\‘·«+ á ÁøÏ+~yêì˝À <˚ì |üs¡Te⁄ Á|ü‹wüº\qT

ÇqTeT&ç+|ü#˚dæ+~?

1) bÕs¡¢yÓT+≥T 2) sêÅwüº|ü‹

3) düTÁ|”+ø√s¡Tº 4) sê»ø°j·T bÕØº\T

97) mìïø£\ $yê<ë\ì |ü]wüÿ]+#̊ n~Ûø±s¡+ n+‹eT+>± me]#̊‹˝À

ñ+≥T+~ ?

1) õ˝≤¢ ø£̋ …ø£ºs¡T 2) bÕs¡¢yÓT+≥T

3) ôV’≤ø√s¡Tº\T eT]j·TT ~>∑Te kÕúsTT Hê´j·TkÕúHê\T

4) düTÁ|”+ø√s¡Tº

98) sêÅwüº|ü‹ ns¡Ω‘·\øÏ dü+ã+~Û+∫ sêC≤´+>∑+ á ÁøÏ+~ n+XÊ\qT

$düà]+∫+~ ?

a. bÂs¡dü‘·«+ b. ø£̇ dü ej·TdüT

c. n~Ûø±sê\T d. ‹]– b˛{° #̊ùd $wüj·T+

1) a, b, c 2) a, b,  d

3) b, c, d 4) a, b, c, d



99) á ÁøÏ+~ yêìì »‘·|üs¡#·+&ç

     ø±&ÉsY    eT+Á‹‘·«XÊK

m) ◊.m.j·Tdt 1) yêDÏ»´

_) ◊.|æ.j·Tdt 2) ôVA+

dæ) ◊.m|òt.mdt 3) dæã“+~, Á|üC≤düeTdǘ \T,ô|q¸Hé

&ç) ◊.m.m.mdt 4) $<̊XÊ+>∑

1) m`2,_`4,dæ̀ 1,&ç̀ 3 2) m`3,_`2,dæ̀ 4,&ç̀ 1

3) m`1,_`4,dæ̀ 3,&ç̀ 2 4) m`4,_`1,dæ̀ 3,&ç̀ 2

100) ñ<√´>∑T\≈£L Á|üuÛÑT‘ê«ìøÏ eT<Ûä́  kÕeTs¡dǘ + kÕ~Û+#̊+<äT≈£î @sêŒ≥T

#̊dæq dü+düú @~ ?

1) ôd+Á≥ Ÿ̋ n&çàìÅùdº{Ïyé Á{Ïã÷´q Ÿ̋

2) ø±]àø£ dü+|òü÷\T 3) C….dæ.j·T+

4) #Ûê+ãsY Ä|òt ø±eTsY‡

101) Ks¡TÃô|{Ïºq n+X̄+ >∑T]+∫ $esê\T düuÛÑøÏ yÓ\¢&ç+#·̋ Òì |ü]dæú‘·T\˝À

á ÁøÏ+~ kÕ<ÛäHêìï ñ|üjÓ÷–kÕÔs¡T ?

1) z{Ÿ ÄHé nøö+{Ÿ 2) z{Ÿ ÄHé Á¬ø&ç{Ÿ

3) ø£+{Ï+C…̇ ‡ Á>±+{Ÿ 4) z{Ÿ ÄHé Á|üb˛» Ÿ̋‡

102) >∑es¡ïs¡T n~Ûø±sê\T ø±ì$ ÁøÏ+~ yêì˝À @$ ?

1) 200e ìã+<ÛäqqTdü]+∫ ˇø£ _\T¢qT |ü]o\Hês¡ú+ sêÅwüº|ü‹øÏ

|ü+|üe#·TÃ.

2) 166(3) ìã+<ÛäqqTdü]+∫ XÊdüqdüuÛÑ\ düuÛ≤ e´eVü‰sê\qT

ìs¡ísTTkÕÔ&ÉT

3) ôV’≤ø√s¡Tº Hê´j·TeT÷s¡TÔ\qT ìj·T$TkÕÔ&ÉT

4) sêÅwüºbÕ\Hê e´eVü‰sê\qT sêÅwüº|ü‹ ø√]q|ü⁄&ÉT Äj·TqøÏ

ìy˚~kÕÔ&ÉT.

103) |ü+#êj·TrsêCŸ dü+düú\≈£î sêC≤´+>∑ Vü≤√<ë ø£*Œ+#·eTì dæbòÕs¡düT

#̊dæq ø£$T{°

1) ã\«+‘YsêjYT yÓTVü≤‘ê ø£$T{°

2) nXÀø̆ yÓTVü≤‘ê ø£$T{°

3) õ.$.¬ø sêe⁄ ø£$T{°

4) m Ÿ̋.m+.dæ+|ò”T« ø£$T{°

104) nXÀø̆ yÓTVü≤‘ê ø£$T{° dæbòÕs¡düT\T ÁøÏ+~yêì˝À @$?

a. õ˝≤¢ kÕúsTT˝À õ˝≤¢ |ü]wü‘Y 15 qT+∫ 20 ẙ\ »HêuÛ≤ ñqï

Á>±e÷\˝À eT+&É̋ Ÿ |ü+#êj·T‘Y e´edüú @sêŒ≥T b. ns ¡ Ω‘ ·

ø£*Zq »&ç®‘√ Á|ü‘̊´ø£+>± Hê´j·T |ü+#êsTTr\ @sêŒ≥T

c. Á|ü‘̊´ø£+>± |ü+#êsTTrsêCŸ eT+Á‹ì ìj·T$T+#·≥+

d. sê»ø°j·T bÕØº\T mìïø£\˝À bÕØº |üs¡+>± bÕ˝ÀZH̊ @sêŒ≥T

1) a, b, c 2) a, b,  d

3) a, b, c, d 4) b, c, d

105) sêÅwüº XÊdüqdüuÛÑ˝À Hê$TH˚{Ÿ #˚j·Tã&˚ nuÛÑ´s¡Tú\ $wüj·T+˝À

ÁøÏ+~yêì˝À @~ ì»+

1) yê]ì eTTK´eT+Á‹ dü÷∫+∫q yê]qT+#̊ m+|æø£ #̊kÕÔs¡T

2) yê]ì >∑es¡ïs¡T ‘·q Çwüº+e∫Ãq Ø‹˝À m+|æø£ #̊düT≈£î+{≤&ÉT.

3) Á|ü‹|üøå±\ yê]ì dü+Á|ü~+#̊ á $<Ûä+>± #̊j·÷*

4) á düuÛÑT´\T $$<Ûä dü+<äsê“¤\˝À z{Ï+>¥ #̊j·T{≤ìøÏ nqs¡TΩ\T

Directions : Which of the phrases (1), (2), (3) and

(4) given below each sentence should replace the

phrase printed in bold in the sentence to make it

grammatically correct ?

106) AsAnuj was familiar with the road to Neeraj's house,
he lead the way.
1) Led the way 2) Led away
3) Leading ways 4) Lead ways

107) Although he was new to the field of painting, Sharad
give it a go.
1) Gave goes 2) Gives his go
3) Gave it a go 4) Giving it goes

108) The performance of the band on New Year's Eve
was out of worlds.
1) Out of the worldly
2) Outing of worlds
3) Out from the world
4) Out of the world

109) Many people do not like to switch at one brand to
another.
1) Switched in 2) Switches at
3) Switch from 4) Switching on

Directions : Choose the Synonym of the following :

110) CARP
1) To twist a meaning unfairly
2) To find fault unreasonably
3) To sharpen
4) To tie fast

111) MERCURIAL
1) Quick-changing 2) Mechanical
3) Heavy 4) Clownish

112) SPORADIC
1) Epidemic 2) Whirling
3) Occasional 4) Stagnant

113) SOPORIFIC
1) Flattering 2) Sickening
3) Exciting 4) Sleep-producing

114) JUST
1) even 2) right
3) strict 4) objective

115) PAINS
1) sadness 2) efforts
3) aches 4) insults

Directions : Choose the Antyonym of the following :

116) SUBSEQUENT
1) successive 2) preceding
3) pre-determined 4) consequent

117) UNUSUAL
1) ordinary 2) remarkable
3) abnormal 4) curious

118) EXECRABLE
1) Excellent 2) Frank
3) Lethargic 4) Blame

119) EXONERATE

1) Moderate 2) Accuse

3) Watchful 4) Acquire



120) REPLETE
1) Disentangle 2) Improper
3) Devoid 4) Renovate

Directions : In each of the following questions,
choose the alternative which can replace the word
printed in bold without changing the meaning of the
sentence.

121) Smallpox is a contagious disease
1) eastern 2) infectious
3) fatal 4) waterborne

122) Shivaji is known for his valour
1) bravery 2) strength
3) administration 4) army

123) Mahatma Gandhi is held in esteem throught the
world
1) reverence 2) praise
3) honour 4) respect

124) Everyone is free to choose his or her career
1) job 2) profession
3) field 4) path

125) He entered into a vacant chamber
1) empty 2) open
3) field 4) none of these

Directions : Choose the correctly spelt word in
questions.

126) 1) achievment 2) acheivment
3) achievement 4) achevement

127) 1) acaamplish 2) acomplish
3) accompplish 4) accomplish

128) 1) prekarions 2) aberration
3) addicate 4) abeyance

128) 1) discussion 2) admission
3) omission 4) ocassion

130) 1) admissible 2) noticeable
3) replaceable 4) compareable

131)The value of                        is :

1) 1 2) 1

3) 2 4) 3

132)If 2 = x +                , then the value of x is :

1) 2) 3) 4)

133)                       = ?

1) 2    6 2) 2 3) 6    2 4)

÷      of
+     of

1
2

1
2

1
2

1
2

1
2

1
2

2
3

1
3

1
1 + 1

3 +1
4

12
17

13
17

18
17

21
17

24 +   216
96

2
6

0.204 x  42
0.07 x 3.4

1
62 +  3

2 -  3
2 -  3
2 +  3

3 -  1
3 +  1

134)                      is equal to :

1) 2) 0.06 3) 0.6 4)  6

135) (            +             +           ) simplifies to :

1) 16 -   3 2) 4 -  3 3) 2 -  3 4) 2 +  3

136)45 $<ë´s¡Tú\T>∑\ ˇø£ ø±¢düT dü>∑≥T ãs¡Te⁄ 52 kg. 48 kg.

dü>∑≥T ãs¡Te⁄ ñ+&̊ 5 >∑Ts¡T yÓ[¢ b˛sTT, yê]kÕúq+˝À 54

kg. ãs¡Te⁄>∑\ 5 >∑Ts¡T ø=‘·Ô $<ë´s¡Tú\T ø±¢düT˝À #̊]‘̊, ø±¢düT

ø=‘·Ô dü>∑≥T ãs¡Te⁄ :

1) 52 2) 52

3) 52 4) None of these

137)8 e´≈£îÔ\ dü>∑≥T ej·TdüT, yê]˝À 21 dü+ˆˆ, 23 dü+ˆˆ

ej·TdüT >∑\ Ç<ä›s¡T e´≈£îÔ\ ã<äT\T>± ø=‘·Ô yês¡T Ç<ä›s¡T

#̊s¡&É+ e\¢ 2 dü+ˆˆ ô|]–+~. ø=‘·Ô>± #̊]q Ç<ä›] dü>∑≥T

ej·TdüT :

1) 22 years 2) 24 years

3) 28 years 4) 30 years

138)ˇø£ _Ûqï+˝À \eeTT, Vü‰s¡eTT 2 : 3 ìwüŒ‹Ô̋ À ñHêïsTT.

\e+˝À qT+∫ 6 rdæẙùdÔ, |òü*‘· _Ûqï+ ndü\T _Ûqï+ $\Te

˝À     e+‘·T ne⁄‘·T+~ ndü\T _Ûqï+ \eeTT :

1) 6 2) 18

3) 27 4) 36

139)ˇø£ e´øÏÔ, Äj·Tq uÛ≤s¡́  ej·TdüT\ ìwüŒ‹Ô 4 : 3., 4 dü+ˆˆ

‘·s¡Tyê‘·, n$ 9 : 7. ne⁄‘êsTT. yê]øÏ ô|+&ç¢ »]–q|ü⁄&ÉT

ìwüŒ‹Ô 5 : 3 , >± ñ+&ç+~. mìï @+&É¢ÁøÏ‘·+ yê]øÏ ô|+&ç¢

nsTTq~?

1) 8 years 2) 10 years

3) 12 years 4) 15 years

140)˙\+, cÕHé dü÷ÿ\T es¡dü ej·TdüT\T 5 : 6 ˙\+ ej·TdüT˝À

e e+‘·T, cÕHé ej·TdüT˝À dü>∑+, 5 : 9 >± ñ+fÒ cÕHé

dü÷ÿ\T ej·TdüT m+‘·?

1) 25 years 2) 30 years

3) 36 years 4) Cannot be determined

5) None of these

141)(1000)7 + 1018 = ?

1) 10 2)100 3) 1000 4) 10000

2
3

1
3



142)(256)0.16 x (256)0.09 = ?

1) 4 2) 16 3) 64 4) 256.25

143)5% of (25% of Rs. 1600) is

1) Rs. 5 2) Rs. 17.50

3) Rs. 20 4) Rs. 25

144)0.15% of 33     of Rs. 10,000 is

1) Rs. 0.05 2) Rs. 5

3) Rs. 105 4) Rs. 150

145)30% of 28% of 480 is the same as
1) 15% of 56% of 240 2) 60% of 28% of 240
3) 60% of 56% of 240 4) None of these

146)ˇø£ yê´bÕs¡düTÔ&ÉT 10% ˝≤uÛ≤ìøÏ _j·T´+ neTTà‘·÷ ndü\T

ø£+fÒ 20% ‘·≈£îÿe ‘·÷ø£+ #̊kÕÔ&ÉT. n‘·ì ìø£s¡̋ ≤uÛÑ+ :

1) 30% 2) 35%
3) 37.5% 4) None of these

147)ˇø£ #·eø£<Ûäs¡\ <äTø±D<ës¡T&ÉT ‘·q edüTÔe⁄\ô|’ 10% ˝≤uÛÑ+

bı+<äT‘ê&ÉT. <=+>∑‘·q+ e\¢ 20% edüTÔe⁄\T qwüºb˛j·÷&ÉT.

n‘·ìøÏ qwüºXÊ‘·+ :

1) 10% 2) 20% 3) 30% 4) 12%

148)20% ˝≤uÛÑ+‘√ B øÏ, A ôd’øÏ\T neTà>±, C øÏ 25% ˝≤uÛÑ+‘√

B ne÷à&ÉT. C ø=qï<Ûäs¡ s¡÷. 225 nsTT‘̊, A ôd’øÏ̋ Ÿ ø=qï

<Ûäs¡:

1) Rs. 110 2) Rs. 120
3) Rs. 125 4) Rs. 150

149)A ˇø£ πs&çjÓ÷ set qT ø=ì eTs¡eTà‘·T\≈£î>±qT s¡÷. 110

<ëìô|’ Ks¡TÃ#̊dæ, <ëìì B øøøøøÏ 20% ˝≤uÛ≤ìøÏ ne÷à&ÉT.

10% qcÕºìøÏ B <ëìì C øÏ neTà>±, C <ëìì s¡÷. 1188

øÏ n$Tà 10% ˝≤uÛÑ+ bı+<ë&ÉT. Radio set ì A m+‘·≈£î

ø=Hêï&ÉT ?

1) Rs. 850 2) Rs. 890
3) Rs. 930 4) Rs. 950

150)3 dü+K´\ yÓTT‘·Ô+ 98. yÓTT<ä{Ï ¬s+&ÉT dü+K´\T 2 : 3,

¬s+&Ée, eT÷&Ée dü+K´\T 5 : 8 ìwüŒ‹Ô̋ À ñ+fÒ, ¬s+&Ée

dü+K´ :

1) 20 2) 30 3) 48 4) 58

151)Rs. 85,000. ô|≥Tºã&ç‘√ A yê´bÕs¡+ Äs¡+_Û+#ê&ÉT.

ø=+‘·ø±\+ ‘·s¡Tyê‘· Rs. 42,500. ô|≥Tºã&ç‘√ B n‘·ì‘√

ø£*XÊ&ÉT. dü+e‘·‡sê+‘êìøÏ e∫Ãq ˝≤uÛ≤\˝À yê]<ä›]

yê{≤\T 3 : 1 >± ñ+fÒ B mìï HÓ\\T yê´bÕs¡+˝À

ñHêï&ÉT?

1) 4 months 2) 5 months
3) 6 months 4) 8 months

152)bÕe⁄øÏ̋ À ã+>±fi≤<äT+|ü\ KØ<äT 60 ô|’dü\T, 200Á>±ˆˆ

KØ<äT ?

1) 48 paise 2) 54 paise 3) 56 paise 4) 72 paise

1
24
3
7

7
24

1
2

153)es¡Tdü>± 24, 6, 12 s√E\˝À ˇø£ |üìì A, B eT]j·TT C

\T #̊kÕÔs¡T. Ä |üì Ms¡+<äs¡÷ ø£*dæ mìï s√E\˝À #̊kÕÔs¡T?

1)        day 2)        day

3)       day 4)  4 day

154)es¡dü>± 20, 30 ì.\˝À ¬s+&ÉT >={≤º\T A, B ˇø£ {≤´+ø̆

ì+|ü>∑\e⁄. ¬s+&ç+{Ïì π̌økÕ] yê&ç‘̊, {≤´+ø̆ ì+&É&ÜìøÏ

|üfÒº ø±\eTT ?

1) 12 min 2) 15 min 3) 25 min 4) 50 min

155)ø±s¡T ẙ>∑+ 80 øÏ.MT./ >∑+ˆˆ n~ mìï MT/ôd.≈£î düe÷qeTT?

1) 8 m/sec 2) 20      m/sec

3) 22     m/sec 4) None of these

156)24 ôdø£qT˝À |üs¡T>∑T |ü+<Ó+ Ä≥>±&ÉT 200MT |ü+<Ó+˝À

|üs¡T¬>‘êÔ&ÉT. n‘·ì ẙ>∑eTT :

1) 20 km/hr 2) 24 km/hr

3) 28.5 km/hr 4) 30 km/hr

157)ˇø£ ¬s’\T 108kmph ẙ>∑+‘√ yÓfīóÔ+~. metre/sec ˝À <ëì

ẙ>∑yÓT+‘· :

1) 10.8 2) 18 3) 30 4) 38.8

158)14 14 14 14 14 metres / second ẙ>∑+ <ëìøÏ düe÷qeTT :

1) 28 km/hr 2) 46.6 km/hr

3) 50.4 km/hr 4) 70 km/hr

159)<äTø±D<ës¡T&ÉT s¡÷ˆˆ 15/- s¡÷ˆˆ 20 ¬ø.õ.\ #=|üq ¬s+&ÉT

s¡ø±\ |ü|ü\qT ø=ì yê{Ïì @ ìwüŒ‹Ô̋ À ø£*|æ‘̊ $TÁ•‘·eTT

KØ<äT ¬ø.õ.øÏ s¡÷ˆˆ 16.50 ne⁄‘·T+~

1) 3 : 7 2) 5 : 7 3) 7 : 3 4) 7 : 5

160)8    % p.a. (dü+e‘·‡sêìøÏ) S.I. ‘√ s¡÷ˆˆ 4800 ndü\T 2

dü+ˆˆ 3 HÓ\\˝À m+‘· e&û¶ bı+<äT‘·T+~?

1) Rs. 796 2) Rs. 816

3) Rs. 918 4) Rs. 956

161)6    % πs≥T S.I. ‘√ s¡÷ˆˆ 16,800 6 ndü\T 9 HÓ\\˝À

m+‘· e&û¶ sêã≥Tº‘·T+~?

1) Rs. 787.50 2) Rs. 812.50

3) Rs. 860 4) Rs. 887.50

162)Albert u≤´+≈£î˝À s¡÷.8000 &çbÕõ{Ÿ #̊ùdÔ 2 dü+.\≈£î

5%p.a. πs≥T‘√ bı+<̊ C.I.‘√ yÓTT‘·Ô+, >∑&ÉT|ü⁄ r]q ‘·sê«‘·

m+‘·?

1) Rs. 8600 2) Rs. 8620

3) Rs. 8800 4) Rs. 8840

5) None of these

1
4

1
4

2
9

1
9



163)Bs¡È #·‘·Ts¡ÁkÕø±s¡+˝À ñ+&̊ düú\+ bı&Ée⁄, yÓ&É\TŒ ø£Hêï

20MT. m≈£îÿe. s¡÷. 26.50/MT. πs≥T‘√ bı\+#·T≥÷º ø£+#Ó

ẙj·T&ÜìøÏ Ks¡TÃ s¡÷. 5300 nsTT‘̊, MT≥s¡¢̋ À bı\+

bı&Ée⁄?

1) 40 2) 50

3) 120 4) Data inadequate

5) None of these

164)4 kmph ẙ>∑+‘√ ˇø£ #·‘·Ts¡ÁkÕø±s¡+ bı˝≤ìï <ëìï ø£s¡í+

yÓ+ã&ç q&É∫ <ë≥&ÜìøÏ 3 ì.\T |ü{Ïº+~ bı\+ yÓ’XÊ\´+ :

1) 18000 m2 2) 19000 m2

3) 20000 m2 4) 25000 m2

165)ˇø£ #·‘·Ts¡ÁkÕø±s¡ düú\+˝À ø£s¡í+ yÓ+ã&ç ˇø£&ÉT q&ç#ê&ÉT

uÛÑTC≤\ yÓ+ã&ç q&Éeø£b˛e&É+ e\¢ n‘·ìøÏ ‘·–Zq <ä÷s¡+

XÊ‘·+, düTe÷s¡T>± :

1) 20 2) 24

3) 30 4) 33

166) ‘E X C L A I M’ nH̊ |ü<äeTT˝Àì 1e, 2e, 5e eT]j·TT 6e

nø£åsê\‘√ ˇø£ ns¡úe+‘·yÓTÆq |ü<äeTT @s¡Œ&ç‘̊, <ëì 3e nø£ås¡eTT

»yêãT. @ |ü<äeTT @s¡Œ&Éø£b˛‘̊, Y »yêãT. ˇø£{Ï ø£+f… m≈£îÿe

|ü<ë\T eùdÔ N »yêãT.

1) Y 2) N 3) C 4) M

167) ˇø£ ø√&é̋ À 69214 qT HSZYR >± 5387 qT XNDU >± ÁyêùdÔ,

15486 qT n<̊ ø√&é̋ À m˝≤ ÁyêkÕÔs¡T ?

1) ZYUDR 2) ZYDUR

3) YXRDH 4) YXRHD

168) AT = 20, BAT = 40 nsTT‘̊, CAT = ?

1) 30 2) 50 3) 60 4) 70

169) MUMBAI ø√&é NWPFFO nsTT‘̊, ONGALE ø√&é @$T?

1) PPJEQL 2) PPJFQK

3) PPJEPK 4) PPJEQK

170) In a certain code ‘she is clever’ is written as ‘$#W’,

‘boy is not clever’ as ‘@#Wâ’and ‘boy is not good’

as ‘@â#+’. How will ‘good clever boy’ be written in

the same code?

A) @#+ B) #â+ C) â#+

D) Cannot bedetermined

171) ø£|üŒqT ã*¢ nì, ã*¢ì #̊|ü nì, #̊|üqT bÕeTT nì, bÕeTTqT

eT#·Ã nì n+fÒ, #̊|ü\T |ü≥Tºyê&ÉT <̊ìøÏ  #Ó+~qyê&ÉT?

1) bÕeTT 2) eT#·Ã

3) ã*¢ 4) #̊|ü

172) REASON : SFBTPO :: THINK : ?

1) SGHMJ 2) UIJOL

3) UHNKI 4) UJKPM

173) Corden : zrogbq : : ? : Pxivro

1) mulmul 2) sulsul

3) munmun 4) srspql

174) 1) d”º\T 2) Ç‘·Ô&ç

3) sê– 4) bÕ<äs¡dü+

175) 1) OCKN 2) WRIL

3) NPOS 4) ORNK

176) 1) 3546 2) 6352

3) 4536 4) 6354

177)3, 12, 27, 48, 75, 108, (?)

1) 147 2) 162 3) 183 4) 192

178) b, e, d, f, ?, h, j, ?, l

1) i n 2) i m 3) m i 4) j m

179) _c_ca_ab_bc_

A) abcac B) babca

C) ccabb D) acbba

180) 3       ?       5

5       4       7

4       4       4

60     96     140

(1) 4 (2) 6 (3) 9 (4) 8

181) 11 eT]j·TT 30 eT<Ûä́ ˝À 2‘√ uÛ≤–+#·ã&ÉT n+¬ø\qT ‘=\–ùdÔ,

mìï n+¬ø\T $T>∑T\T‘êsTT?

1) 5 2) 10 3) 9

4) 6

182)If ‘+’ nq>± ‘x’, ª™µ nq>± ‘-’, ‘x’ nq>± ª™µ, and   ‘-’ nq>±

‘+’  then the value of

58 - 6 x 3 + 4 ™™™™™ 2 = ?

1) 49 2) 64

3) 104 4) None of these

183) ˇø£s√E dü÷s√´<äj·TeTT ‘·s¡Tyê‘· $eT Ÿ̋ q&Éø£ yÓTT<ä\Tô|{≤º&ÉT.

q&ÉTdü÷Ô, ‘·q≈£î m<äTs¡T>± edüTÔqï d”ºô|òHéqT ø£*kÕ&ÉT. d”ºô|òHé ˙&É

‘·q≈£î ≈£î&çyÓ’|ü⁄ e⁄+&É{≤ìï $eT Ÿ̋ >∑eTì+#ê&ÉT. $eT Ÿ̋ @ ~X̄>±

ñHêï&ÉT ?

1) ‘·÷s¡TŒ 2) |ü&ÉeTs¡

3) <äøÏåDeTT 4) ø±e\dæq $esê\T Ò̋e⁄



184) ‘P’ ‘·q Ç+{Ï qT+&ç |ü&ÉeTs¡ ~X̄>± ãj·T\T<̊]Hê&É. 25 MT.

q&ç∫q ‘·s¡Tyê‘·, ≈£î&çyÓ’|ü⁄≈£î ‹]– 10 MT. q&ç∫Hê&ÉT. eTs¡\

≈£î&çyÓ’|ü⁄≈£î ‹]– 15 MT. q&ç∫Hê&ÉT. ‘·s¡Tyê‘· 135
0
\ø√DeTT˝À

≈£î&çyÓ’|ü⁄≈£î ‹]–, 30 MT. Á|üj·÷DÏ+#ê*. n‘·qT @ ~X̄˝À yÓfi≤fl*

?

1) |ü&ÉeTs¡ 2) <äøÏåDeTT

3) HÓ’ãTT‹ 4) Äπ>ïj·TeTT

185) ˇø£ e´øÏÔì #·÷|ædü÷Ô B|üø̆ Ç˝≤ n+{≤&ÉT ªª á e´øÏÔ jÓTTø£ÿ @¬ø’ø£

k˛<äs¡T&ÉT Hê ≈£L‘·T] ‘·+Á&ç jÓTTø£ÿ ‘·+Á&çµµ Ä e´øÏÔ B|üø̆≈£î m˝≤

ã+<ÛäTe⁄ ?

1) ‘·+Á&ç 2) ‘ê‘·

3) ô|<äHêqï/u≤u≤sTT  4) u≤e

186) A, ‘B’ jÓTTø£ÿ k˛<äs¡T&ÉT, B, ‘C’ jÓTTø£ÿ k˛<ä], eT]j·TT C, ‘D’

jÓTTø£ÿ ‘·+Á&ç, nsTT‘ ̊D, ‘A’ ≈£î @eTÚ‘ê&ÉT ?

1) k˛<äs¡T&ÉT 2) k˛<ä]

3) ẙTq\T¢&ÉT 4) ìs¡ísTT+#·̋ ÒeTT

187) es¡Tdü̋ À e⁄qï u≤\Ts¡̋ À ø£|æ̋ Ÿ ≈£î&ç qT+&ç 8e yê&ÉT, ì≈£î+CŸ

m&ÉeT qT+&ç 12e yê&ÉT. ø£|æ˝Ÿ, ì≈£î+CŸ ‘·eT kÕúHê\qT

e÷s¡TÃ≈£î+fÒ, ì≈£î+CŸ m&ÉeT qT+&ç 21e yê&ÉT ne⁄‘ê&ÉT. n|ü⁄Œ&ÉT

≈£î&ç qT+&ç ø£|æ̋ Ÿ kÕúqeTT m+‘· ?

1) 8 e~ 2) 17 e~

3) 21 e~ 4) ìs¡ísTT+#·̋ ÒeTT

188) ãs¡TyÓ’q HêD…eTT jÓTTø£ÿ $\Te ‘˚*¬ø’q HêD…eTT ø£+f… m≈£îÿe.

sêeTT e<ä›e⁄qï HêD…eTT yÓ÷Vü≤Hé e<ä› qTqï HêD…eTT ø£+f… ãs¡TyÓ’q~.

eT]j·TT s¡ẙTwt e<ä› qTqï HêD…eTT ø£+f… $\TyÓ’q~. qπswt e<ä›qTqï

HêD…eTT $\Te sêeTT e<ä›qTqï HêD…eTT ø£+f… m≈£îÿe. jÓ÷π>wt

e<ä›qTqï HêD…eTT ø£+f… qπswt e<ä›qTqï HêD…eTT ‘̊*¬ø’q~. yÓ÷Vü≤Hé

e<ä›qTqï HêD…eTTø£+f… s¡y˚Twt e<ä›qTqï HêD…eTT KØ<Ó’q~.

me]e<ä›qTqï HêD…eTT m≈£îÿe $\TyÓ’q~ ?

1) sêyéT 2) s¡ẙTwt

3) jÓ÷π>wt 4) qπswt

189) bÕ∫ø£ jÓTTø£ÿ Hê\T>∑T y˚πs«s¡T kÕúHê\ ÁøÏ+<ä #·÷|æq $<Ûä+>±

ñqï|ü⁄Œ&ÉT. q+ãs¡T 4≈£î n_ÛeTTK+>± e⁄qï q+ãs¡T ?

(i)       (ii) (iii)   (iv)

1) 5    2) 3 3) 2    4) 1

4
6 5

2
5 1

1
5 6

2
4 3

CA B D

190) {°#·s¡T, eT>∑yês¡T, Ä&Éyê]øÏ eT<Ûä́ >∑\ dü+ã+<Ûëìï ~>∑TeqTqï @

∫Á‘·eTT #·÷|ædüTÔ+~ ?

191) 1) 8 2) 10

3) 12 4) 14

192) ˇø£ |ü≥ºD »HêuÛ≤˝À ô|<ä›\˝À 40% ìs¡ø£åsêdüT´\T. |æ\¢̋ ˝À 85%

nø£åsêdüT´\T. ô|<ä›\ |æ\¢\ ìwüŒ‹Ô 2:3 nsTT‘̊, m+‘· XÊ‘·eTT Á|ü»\T

nø£åsêdüT´\T ?

1) 20% 2) 25% 3) 50% 4) 75%

193)

194)

195) 3, 12, 27, 48, 75, 108, (?)

1) 147 2) 162 3) 183 4) 192

196) 7, 12, 19, (?), 39

1) 28 2) 26 3) 24 4) 29

197)(ABC)-6,(DEF)-15,(GHI)-24, ?

1) (JKM)-33 2)(JKL)-33

3)(KLM)-35 4)(IJK)-31



198)Z, X, V, T, R, P, ?

1) Q      2)R 3) S 4)N

199) RAJESH ø√&é QBIFRI nsTT‘̊, ARVIND jÓTTø£ÿ

ø√&é ?

1) ZSUKME 2) ZSUKEM

3) SZUKME 4) ZSVMKE

200) uÛ≤s¡‘· kÕ«‘·+Á‘· ~H√‘·‡e+ 1996 ˝À X̄óÁø£yês¡+ nsTT‘̊

2000 dü+e‘·‡s¡+˝À @ yês¡+ ne⁄‘·T+~ ?

1) ãT<Ûäyês¡+ 2) >∑Ts¡Tyês¡+

3) X̄óÁø£yês¡+ 4) Ä~yês¡+



»yêãT\T

1) 4 2) 2 3) 3 4) 4 5) 2 6) 2

7) 2 8) 4 9) 2 10) 3 11) 4 12)2

13) 1 14) 4 15) 3 16) 3 17) 3 18) 3

19) 3 20) 4 21) 3 22) 3 23) 1 24) 3

25) 3 26) 3 27) 4 28) 4 29) 1 30) 1

31) 3 32) 1 33) 2 34) 3 35) 4 36) 1

37) 4 38) 3 39) 4 40) 1 41) 1 42) 1

43) 3 44) 3 45) 1 46) 1 47) 4 48) 1

49) 2 50) 1 51) 1 52) 2 53) 1 54) 3

55) 2 56) 3 57) 1 58) 2 59) 1 60) 1

61) 4 62) 2 63) 3 64) 2 65) 1 66) 1

67) 3 68) 2 69) 3 70) 1 71) 4 72) 4

73) 4 74) 3 75) 4 76) 3 77) 2 78) 4

79) 1 80) 4 81) 1 82) 2 83) 3 84) 3

85) 2 86) 1 87) 2 88) 4 89) 4 90) 1

91) 3 92) 3 93) 1 94) 2 95) 2 96) 3

97) 3 98) 2 99) 2 100) 3 101) 2 102) 3

103) 4 104) 3 105) 1 106) 1 107) 3 108) 4

109) 3 110) 2 111) 1 112) 3 113) 4 114) 2

115) 2 116) 2 117) 1 118) 1 119) 2 120) 3

121) 2 122) 1 123) 1 124) 2 125) 1 126) 3

127) 4 128) 1 129) 4 130) 4 131) 3 132) 4

133) 2 134) 4 135) 1 136) 3 137) 4 138) 2

139) 3 140) 4 141) 3 142) 1 143) 3 144) 2

145) 2 146) 3 147) 4 148) 4 149) 2 150) 2

151) 4 152) 1 153) 3 154) 1 155) 3 156) 4

157) 3 158) 3 159) 3 160) 3 161) 1 162) 5

163) 5 164) 3 165) 3 166) 1 167) 3 168) 3

169) 4 170) 4 171) 1 172) 2 173) 2 174) 4

175) 2 176) 2 177) 1 178) 2 179) 2 180) 2

181) 3 182) 2 183) 3 184) 3 185) 3 186) 4

187)  2 188) 3 189) 4 190) 4 191) 3 192) 4

193) 1 194) 2 195) 1 196) 1 197) 2 198) 4

199) 1 200) 1

$es¡D\T

131)Given exp. =                =              = 2x      =       = 2   .

1
2 ÷

+

1
4

1
2

1
4

2+1
4

x 4
1
2 4

3
8
3

2
3

132)x = 2 -                  = 2 -               = 2 -

= 2 -    =      .

1
1 + 1

(13/4)

1
1 + 4

13

1
(17 / 13)

13
17

21
17

133)                =                           =                =           = 2.24 + 216
96

4x6 + 36x6
16 x 6

2  6 +6  6
4 6

8   6
4  6

134)Given exp. =                    =    36 = 6.204 x 42
7 x 34

135)Given exp. =              x                +              x

+                x

=                +              +                = [(2 +    3)2

+ (2 +   3)2] +

= 2(4 + 3) + 2 -   3 = 16 -   3.

(2 +   3)
(2 -   3)

(2 +   3)
(2 +   3)

(2 -   3)
(2 +   3)

(   3 -1)
(  3 -1)

(   3 -1)
(  3 +1)

(2 -   3)
(2 -   3)

(2 +   3)2

(4 - 3)
(2 -   3)2

(4 - 3)
(  3 - 1)2

(3 - 1)

4 - 2   3
2

136)Sum of the weights of the students after replacement

= [(52 x 45) - (48 x 5) + (54 x 5)] kg = 2370 kg.

     New average = (       ) kg = 53      kg.2370
45

2
3

137)Total age increased = (8 x 2)  years = 16 years.

Sum of ages of two new men = (21 + 23 + 16) years

= 60 years

   Average age of two new men = (     ) years

= 30 years.

60
2

138)_ÛqïeTT       nqTø=+fÒ,    x              R

=  18x2 - 54x = 12x2

6x2 = 54x      x = 9.

       ndü\T _Ûqï+˝À \eeTT = 2x = 18.

2x- 6
3x

2
3

2x
3x

2x- 6
3x

4x
9x

139) e´øÏÔ ej·TdüT uÛ≤s¡́  ej·TdüT 3x nqTø=+fÒ

                =              7 (4x + 4) = 9 (3x + 4)      x = 8.

yê] Á|üdüTÔ‘· ej·TdüT\T 32, 24 dü+ˆˆ. dü+ˆˆ ÁøÏ‘·+ yê]

ô|+&ç¢ »]–+~ nqTø=+fÒ

Then,             =          3 (32 - z) = 5 (24 - z)      2z = 24

z = 12.

32 - z
24 - z

5
3

4x + 4
3x + 4

9
4



140)Let the school ages of Neelam and Shaan be 5x and

6x years respectively. Then,

            =             (     x 9 x 5x) = (      x 6x)    15 = 15.

Thus, Shaan's age cannot be determined.

    x -5x
   x 6x

1
3
1
2

5
9

1
3

5
2

(1000)7

1018

(103)7

1018

1021

1018
141)(1000)7 1018 =            =        =           =        = (10)(21-18)

= 103 = 1000.

10(3x7)

1018

142)(256)0.16 x (256)0.09 = (256)(0.16 +0.09) = (256) 0.25

= (256)[      ]

= (256)     = (44)    = 4(4x   ) = 41 = 4.
1
4

1
4

1
4

25
100

143)5% of (25% of Rs. 1600) = Rs. [      x [         x 1600]]

=  Rs. 20.

5
100

25
100

144)0.15% of 33    % of Rs. 10,000 = Rs  [      x         x

(      x       x 10000)] = Rs. 5.

15
100

1
100

1
100

100
3

145)Clearly, 60% of 28% of 240 = [      x         x   240]

= (      x       x 2 x 240)

= (        x        x 480) = 30% of 28% of 480.

60
100

28
100

28
100

30
100

30
100

28
100

146)1 kg nì Áyêj·Tã&çq ˇø£ bÕ ¬́ø{ŸqT rdüTø=+<ëeTT

ndü\T ‘·÷ø£+  R 80% of 1000 gm = 800 gm.

Á|ü‹ gm C.P. = Re. 1 nqTø=+fÒ, á bÕ ¬́ø{Ÿ

C.P. = Rs.800.

á bÕ ¬́ø{Ÿ S.P = 110% of C.P. of 1 kg = Rs.

(       x 1000) = Rs. 1100.

    ˝≤uÛÑXÊ‘·eTT R (       x 100)% = 37.5%

110
100

300
800

147)n‘·ì <ä>∑Zs¡ 100 edüTÔe⁄\T ñHêïsTT nqTø=+fÒ, Á|ü‹ edüTÔe⁄

C.P. R Re.1 nqTø=+<ëeTT.

yÓTT‘·Ô+ $\Te R Rs. 100. <=+>∑‘·q+ ‘·s¡Tyê‘· $T–*q

edüTÔe⁄\ dü+K´  80.

Á|ü‹ edüTÔe⁄ S.P. R Rs. 1.10.

   yÓTT‘·Ô+ neTàø£+ $\Te R Rs. (1.10 x 80) = Rs. 88.

   qwüºXÊ‘·eTT R (         x 100) % = 12%12
100

148)125% of 120% of A = 225           x        x A = 225

A = (225 x      ) = 150.
2
3

125
100

120
100

149)110% of 90%  of 120% of A = 1188

           x          x         A = 1188             A = 1188

A = 1000.

      A purchased it for Rs. (1000 - 110) = Rs. 890.

110
100

90
100

120
100

1188
1000

150)Let the three parts be A, B, C. Then,

A : B = 2 : 3 and B : C = 5 : 8 = (5 x    ):(8 x    ) = 3    :

 A : B : C = 2 : 3 :     = 10 : 15 : 24       B = (98 x      )

= 30.

3
5

3
5

15
49

24
5

24
5

151)x HÓ\\ ø±\+ B #̊sê&ÉT nqTø=+fÒ,                 =       or x

=                        = 8.

     8 HÓ\\ bÕ≥T B #̊sê&ÉT

85000 x 12
42500 x x

3
1

85000 x 12
42500 x 3

152)Let the required cost be x paise. Less weight, Less

cost (Direct Proportion)

       250 : 200 : : 60 : x

      250 x x = (200 x 60)     x =                     x = 48.(200x60)
250

153)(A + B + C) \ ˇø£ s√E |üì = (        +       +       ) =

     A, B, eT]j·TT C  \T ø£*ùdÔ      = 3     s√E\˝À |üì

ne⁄‘·T+~.

1
24

1
6

1
12

7
24

24
7

3
7

154)1 ì.˝À A ì+|æq uÛ≤>∑eTT R     — 1 ì.˝À B ì+|æq

uÛ≤>∑eTT R

1 ì.˝À (A + B) ì+|æq uÛ≤>∑eTT R (     G     ) R     .

   ¬s+&É÷ ø£*dæ 12 ìˆˆ\˝À ì+|ü⁄‘êsTT.

1
20

1
30

1
20

1
30

1
12

155)Speed = (80 x      ) m/sec =       m/sec = 22     m/sec.

156)Speed =           m/sec =         m/sec = (        x       )

km/hr = 30 km/hr.

5
18

200
9

2
9

25
3

200
24

25
3

18
5

157)108 kmph = (108 x       ) m/sec = 30 m / sec.5
18

158)14 m/sec = (14 x       ) km/hr = 50.4 km/hr.18
5

159)By the rule of alligation :

Rs. 15
Cost of 1 kg pulses of 2st kind

Mean price

Rs. 16.50

3.50 1.50

Rs. 20
Cost of 1 kg pulses of 1st kind

   Required ratio = 3.50 : 1.50 = 35 : 15 = 7 : 3.

25
4

3
4

1
100

161)Time = 9 months =        year.

      S.I. = Rs. [ 16800 x       x      x       ] = Rs. 784.50.

3
4

9
4

17
2

9
4

160)Time = 2 yrs 3 mths = 2        yrs =         yrs.

      S.I. = Rs. [ 4800 x       x      x       ] = Rs. 918

1
4

1
100

162)Amount = Rs. (8000x(1+          )2)

Rs. (8000x       x       )= Rs. 8820.

5
100

21
20

21
20



163)Let breadth = x metres.Then, length = (x + 20)

metres.

Perimeter = (            )m = 200 m.

2[(x + 20) + x] = 200    2x+20 = 100    2x =80    x=40.

Hence, length = x + 20 = 60 m.

5300
26.50

164)q&É∫qyêì ẙ>∑+ R (4x     ) m/sec =      m/s.

|ü{Ïºq ø±\eTT R (3 x 60) sec = 80 sec.

   ø£s¡íeTT bı&Ée⁄ R (ẙ>∑+xø±\+) = (      x 180) m

= 200m.

   yÓ’XÊ\´eTT R   x(ø£s¡íeTT)
2
 = (     x 200 x 200)m2

= 20000 m2

5
18

10
9

10
9

1
2

1
2

165)Let the side of the square be x metres.

Then, AB + BC = 2x metres.

AC =    2 x = (1.41x) m

Saving on 2x metres = (0.59x)m.

Saving% = (        x 100)% = 30% (approx).059x
2x

166)       E    X    C     L      A    I    M

1     2     3     4     5    6    7

Ç∫Ãq |ü<äeTT˝Àì 1e, 2e, 5e eT]j·TT 6e nø£åsê\T E, X , A

eT]j·TT I. M{Ï‘√ ns¡úe+‘·yÓTÆq |ü<ëìï Áyêj·T Ò̋eTT.

167) eT]j·TT6 9 2 1 4
H S Z Y R

5 3 8 7
X N D U

 ∴   15486 = YXRDH

168)A x T = 1 x 20 = 20

  eT]j·TT B x A x T = 2 x 1 x 20 = 40

∴

 C x A x T = 3 x 1 x 20 = 60.
169)    M       U        M        B        A          I

[ 1+

   

[ 2+

    

[ 3+

   

[ 4+

     

[ 5+

   

[ 6+

N         W       P        F          F         O

Hence ONGALE = PPJEQK
170) (i) she is clever = $#W

(ii) boy is not clever = @%W�

(iii) boy is not good = @�#+
Hence the code of ‘good clever boy’ cannot be determined.

171) #̊|ü\T |ü≥Tºyê&ÉT #̊|ü\T |ü≥Tº‘ê&ÉT. »yêãT bÕeTT.

172)  R

1+ →

S  n˝≤π>

    E

1+ →

 F T

1+ →

 U

      A

1+ →

B H

1+ →

 I

      S

1+ →

T I

1+ →

 J

      O

1+ →

P N

1+ →

O

      N

1+ →

O K

1+ →

L

173)  As       C

3− →

 z Similarly        s

3− →

 p

o 

3+ →

r u 

3+ →

x

r 

3− →

o l 

3− →

i

d 

3+ →

g s

3+ →

v

e 

3− →

b u 

3− →

r

n 

3+ →

q l

3+ →

o

174) $T>∑‘ê n˙ï |òüTq|ü<ësêú\T. bÕ<äs¡düeTT Á<äe+.

175) In all the others ON is common.

176) 3456 

→

 3 + 4 + 5 + 6 = 18

 4536 

→

 4 + 5 + 3 + 6 = 18

  6354 

→

 6 + 3 + 5 + 4 = 18

but 6352 

→

 6 + 3 + 5 + 2 = 16
177)         3    12     27      48     75    108    147

          +9     +15     +21     +27      +33     +39

178)    (b    e    d) (f    i      h)(j   m      l)

          + 3      - 1     + 3     - 1       + 3     - 1

�

�������

179) bca | cab | abc | bca

180) 3 X 5 X 4 = 60

and 5 X 7 X 4 = 140

∴

4 X 4 X ? = 96

? = 

96
16

 = 6

181)11 qT+&ç 30 eT<Ûä́ ˝Àì q+ãs¡T¢ 12, 13, 14, 15, 16, 17, 8,

19,20, 21, 22, 23, 24, 25, 26, 27, 28 eT]j·TT 29. ª2µ‘√

uÛ≤–+|üã&ÉTq$

12, 14, 16, 18, 20, 22, 24, 26 eT]j·TT 28

∴

 $T–*q dü+K´\T: 13, 15, 17, 19, 21, 23, 25, 27

eT]j·TT 29 Ç$ yÓTT‘·ÔeTT 9.

182)Putting proper signs, we get

58 - 6 x 3 + 4™ 2  = 58 + 6 ™ 3 x 4 - 2

           = 58 + 2 x 4 - 2

           = 58 + 8 - 2

           = 64

183)dü÷s¡T´&ÉT ‘·÷s¡TŒq ñ<äsTTkÕÔ&ÉT. ø£qTø£ e´øÏÔ m\¢|ü⁄Œ&ÉT ñ<äj·÷q

|ü&ÉeT{Ï yÓ’|ü⁄ |ü&ÉT‘·T+~. d”ºô|òHé ˙&É $eT Ÿ̋≈£î ≈£î&çyÓ’|ü⁄q ñ+~

ø£qTø£ $eT Ÿ̋ <äøÏåD ~X̄≈£î n_ÛeTTK+>± ñHêï&ÉT.

184)

ø£qTø£ n‘·qT HÓ’ãTT‹ ~X̄˝À yÓfi≤fl*.

10 MT.

C

B

D

A

15 MT.

25 MT.

135
0

185) B|üø̆ ≈£L‘·T] ‘·+Á&ç jÓTTø£ÿ ‘·+Á&ç 

→

 B|üø̆ ‘·+Á&ç. ø£qTø£ Ä e´øÏÔ

B|üø̆ ‘·+Á&ç jÓTTø£ÿ k˛<äs¡T&ÉT. ø£qTø£ Ä e´øÏÔ B|üø̆ ô|<äHêqï Ò̋<ë

u≤u≤sTT.

186)Ä&É Ò̋<ë eT>∑ nì ‘Ó*j·T<äT ø£qTø£, D eT]j·TT A eT<Ûä́  >∑\

dü+ã<Ûëìï ìs¡ísTT+#·̋ ÒeTT.

187) ì≈£î+CŸ ø£|æ̋ Ÿ

         

 →

  

•

            

•

     

←

14 8 17 8 17
‘ês¡Te÷s¡T #̊dæq ‘·s¡Tyê‘·

ø£|æ˝Ÿ ì≈£î+CŸ

•

           

 →

  

•

 21e

es¡Tdü̋ À yÓTT‘·Ô+ u≤\Ts¡ dü+K´ R 21 G 7 R 28.

≈£î&ç qT+&ç ø£|æ̋ Ÿ kÕúqeTT R 28 ` 11 R 17 e~.



188) sêeTT jÓTTø£ÿ HêD…eTT > yÓ÷Vü≤Hé jÓTTø£ÿ HêD…eTT (1)

sêeTT HêD…eTT $\Te > s¡ẙTwt HêD…eTT    (2)

qπswt HêD…eTT > sêeTT HêD…eTT    (3)

jÓ÷π>wt HêD…eTT > qπswt HêD…eTT    (4)

s¡ẙTwt HêD…eTT > yÓ÷Vü≤Hé HêD…eTT    (5)

ô|’ düMTø£s¡D≤\ Ä<Ûës¡+>± .....

jÓ÷π>wt > qπswt > sêeTT > s¡ẙTwt > yÓ÷Vü≤Hé

∴

jÓ÷π>wt HêD…eTT $\Te m≈£îÿe.

189)(i) eT]j·TT (iv) ∫Á‘ê\ <ë«sê ‘Ó*j·TTq~ @eTq>± q+ãs¡T¢ 6,5,

2 eT]j·TT 3 q+ãs¡T 4 ≈£î Á|üø£ÿ>± e⁄HêïsTT. nq>± 1, 4 ≈£î

n_ÛeTTK+>± e⁄+~.

190)Ä&Éyês¡T, eT>∑yês¡T ẙπs«s¡T. ø±ì ø=+‘·eT+~ eT>∑yês¡T {°#·s¡T¢  

ø=+‘·eT+~ Ä&Éyês¡T {°#·s¡T¢ ø±e#·TÃ.

191) düT\Te⁄>± ˇø£ uÛ≤>∑|ü⁄

Á ‹uÛÑTC≤\T 

→

 8

AEH, EHI, EBF, EFI,

FGC, IFG, DGH, HIG

¬s+&ÉT uÛ≤>±\ Á‹uÛÑTC≤\T

→

 4

HEF, EFG, HFG and EFG

yÓTT‘·Ô+ Á‹uÛÑTC≤\T 

→

 8G4 R 12

GD

H

A E

I

192) ô|<ä›\, |æ\¢\ dü+K´ 2x eT]j·TT 3x nqT≈£î+fÒ

nø£åsêdüT´\ dü+K´ R

2x ˝À (100`40) % G 3x˝À 85%

R ( ) ( )60 85 6x 51x 75x2x 3x
100 100 5 20 20

+ × = + =×

ø±e\dæq XÊ‘·eTT R  ( )75x 1 100 % 75%
20 5x

=× ×

193)yÓTT<ä{Ï <äX̄˝À ¬s+&ÉT ì≥ºì\Te⁄>± e⁄qï πsU≤K+&Ü\T #̊s¡Ãã&ÉT‘·Tqï$.

‘·s¡Tyê‹ <äX¯˝À ¬s+&ÉT düe÷+‘·s¡+>± e⁄qï πsU≤K+&Ü\T

#˚s¡Ãã&ÉT‘·Tqï$.

194)ÁøÏ+~ ≈£î&çeT÷\˝À e⁄qï ¬s+&ÉT >∑Ts¡TÔ\ düeTT<ëj·TeTT düe´~X̄˝À

900 ‹s¡T>∑T‘·T+~. ô|’q ≈£î&çeT÷\≈£î #̊s¡T‘·T+~. n˝≤π> ô|’q m&ÉeT

eT÷\\˝À e⁄qï ¬s+&ÉT >∑Ts¡TÔ\ düeTT<ëj·TeTT ø£~*, ÁøÏ+~ ≈£î&ç

eT÷\≈£î »s¡T>∑T‘·T+~.

195)   3I3R9  ⇒   9G3R12

5I3R15

⇒

15G12R27

7I3R24

⇒

21G27R48

9I3R27

⇒

27G48R75

11I3R33

⇒

75G33R108

13I3R39

⇒

108G39R147 »yêãT

196)

19G9R28 »yêãT

197)A1+B2+C3=6, D4+E5+F6=15, G7+H8+19=24,

n<̊ $<Ûä+>± ‘·s¡Tyê‘· e#̊Ã nø£åsê\ eT]j·TT kÕúq$\Te\T J

10+ K 11 + L12 =33

198)

199)


